50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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47 Module-1 =
a. Explain the Euclid’s aiga@%fm for determining th, D of two positive integers. Find the

GCD of (1970, 1066 g Euclid’s algorithm. (08 Marks)
b. ithmetic Operation propertles and prove the same. (08 Marks)
a Explaln he%xtended Euclid’s Algonthm for determining the GCD and multiplicative
(08 Marks)
b. Ad bx)=x*+x>+x+ 1.
(08 Marks)
sz N
a. Draw the model of symﬁ;et;é cryptosystem and explain it. PO (08 Marks)
b. Explain playfair Cipher and its rules for the<f0llowing example: 4,
(08 Marks)

¢ (08 Marks)

, explain genera;érgepwtlon of DES encryptlon algorithm.

\ (08 Marks)
" K Mﬁdule— |
a. Explain w1th %ﬂeat dlagram of ABS encryption process. (08 Marks)
b. Explain AEWey expanswn algerithm. (08 Marks)
N
%W OR
a. Explain linear feedback shift registers with necessary diagrams. (08 Marks)
b. Explain the follow: Wlth necessary diagrams:
)  Generalized'G &ﬂe Generator ‘
ii) ThresholﬂGenerator (08 Marks)
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State and prove Fermat’s Theorem. Also find 3°*' mod 1 using it. (08 Marks)
Explain Chinese Remainder Theorem. By using C
x=2 (mod 3)
x =3 (mod 5)
x =2 (mod 7). (08 Marks)
Explain elaborately Diffie-Hellm. (05 Marks)
Perform encryption and decryptit : q =]l,e=7and M =
(06 Marks)
(05 Marks)
ash algorithm with a neat-diagram. (08 Marks)

Seture Hash Algorithm (SHA) (08 Marks)

(08 Marks)
(08 Marks)
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